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1101[XK1E dbimE 250 2500 0 2500 10 0 0 0 1836 0 1296
EE 93 930 0 930 10 0 0 0 2160 0 1404
RE 5 75 0 75 15 0 0 0 1404 0 1296
& 348 3505 0 3505
NB|FEFEAS [dtiEE 475 4750 0 4750 10 0 0 0 1620 0 756
& 475 4750 0 4750
1141[54R BmE 16 80 0 80 5 0 0 0 3240 0 1944
& 6 60 0 60 10 0 0 0 1944 0 1620
[&D) 22 140 0 140
1201|833 EF 210 3150 0 3150 15 0 0 0 1858 0 1426
GhH 210 3150 0 3150
1203 X vRY |BE 70 700 0 700 10 0 0 0 864 0 756
BHE 100 1500 0 1500 15 0 0 0 0 1145 0
E& 30 300 0 300 10 0 0 0 864 0 432
(&) 200 2500 0 2500
1204|G7R—J)L  [E® 25 250 0 250 10 0 0 0 0 1134 0
GhH 25 250 0 250
1205[[FONAE (D) 60 240 0 240
1207[ & Gb 840 84 84 0
1209| B & B 15 45 0 45 3 0 0 0 1836 0 1620
(&) 15 45 0 45
1301 |FF EE 2 9 9 0 44 0 594 0 0 0 0
=B 56 280 0 280 5 0 0 0 2808 0 2322
HmE 20 6 0 6 0.3 0 0 0 0 184 0
BmE 200 100 0 100 05 0 0 0 194 0 151
e 42 168 0 168 4 0 0 0 2160 0 1404
#mE 107 535 0 535 5 0 0 0 2700 0 1620
(&) 430 1110 9 1101
1311[FF IR E 90 360 0 360 4 0 0 0 2700 0 2160
Eh 90 360 0 360
1321 |8 dLiEE 300 1500 0 1500 5 0 0 0 2916 0 2160
BiE 21 105 0 105 5 0 0 0 2808 0 2376
(&) 341 1705 0 1705
1331 [ M FEH» Eh 81 810 0 810
13B1E—<> [EE 150 23 0 23 0.15 0 0 0 113 0 103
Eh 160 63 0 63
1353| Tk (&) 5 5 0 5
1355|445 ERE 640 64 0 64 0.1 0 0 0 86 0 81
(&) 780 78 0 78
1361|R/Fa>  |[EF 15 75 0 75 5 0 0 0 1663 0 1620
(&) 15 75 0 75
1371 [L1Y x5 40 120 0 120 3 0 0 0 1620 0 810
(&) 40 120 0 120
1411 &= Eh 204 82 82 0
1511 | 5#HE dLiEE 99 990 0 990 10 0 0 0 0 1296 0
Gh 99 990 0 990
1513[A—54> [dtEE 600 6000 0 6000 10 0 0 0 3780 0 1080
Gh 600 6000 0 6000
1521 | B % =i 8 40 0 40 5 0 0 0 3240 0 2700
Gh 8 40 0 40
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1541 [E& dbimE 500 10000 0 10000 20 0 0 0 2700 0 2376
& 500 10000 0 10000
1603[JL)— [RE 9 90 0 90 10 0 0 4320 0 1512
& 9 90 0 90
1609[F7aval)  [dtiEE 82 656 0 656 8 0 0 4147 0 3940
& 82 656 0 656
1611[LER % 15 150 0 150 10 0 0 1998 0 1836
& 15 150 0 150
1612 Y=L AR |[EF 15 75 0 75 5 0 0 2106 0 1836
& 15 75 0 75
1627|2=F<F |[dtBE 198 594 0 594 3 0 0 2916 0 1620
& 222 599 0 599
1705| T A= =0 1620 130 0 130 0.08 0 0 0 56 0
= 90 9 0 9 0.1 0 0 0 67 0
(&) 1714 155 0 155
1803 | HEE [E)) 930 132 0 132
1807 |#BH f=554 200 20 0 20 0.1 0 0 0 35 0
% 930 186 0 186 0.2 0 0 70 0 58
(&) 1130 206 0 206
1809|L&HL R 250 25 0 25 0.1 0 0 0 40 0
=% 450 90 0 90 0.2 0 0 0 62 0
(&) 700 115 0 115
* S EEET * 18409 75017 183 74834
2307| 25K mE 33 330 0 330 10 0 0 0 3780 0
Eh 33 330 0 330
2331|—+{%e |BH 43 430 0 430 10 0 0 8100 0 7560
Eh 43 430 0 430
2511[#k f=154 87 435 0 435 5 0 0 4212 0 2700
/] 39 156 0 156 4 0 0 0 864 0
(&) 126 591 0 591
2541[%F E% 120 84 0 84 0.7 0 0 0 464 0
(&) 120 84 0 84
2609| B I& 1= 32 11 0 11 0.35 0 0 0 594 0
(&) 32 11 0 11
2611|EA—% [ELl 2 4 0 4 2 0 0 0 4212 0
(&) 2 4 0 4
2616|SAAL  [ILEL 20 14 0 14 0.7 0 0 0 2268 0
1=k 38 190 0 190 5 0 0 10800 0 9180
[E)) 58 204 0 204
2731|F K A 60 900 0 900 15 0 0 7020 0 5400
=5 50 750 0 750 15 0 0 7020 0 3240
(&) 110 1650 0 1650
2821 [ETER EE 1176 588 0 588 0.5 0 0 486 0 313
(&) 1176 588 0 588
* S FEET * 3400 7784 0 7784




